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ALCOHOL KNOWLEDGE TEST

(FH SUPPL 1 TO AR 600-86)
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PLACE AN X IN EITHER (T) TRUE OR (F) FALSE:
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Alcohol is adrug and can be addictive.

. Alcohol is a depressant.
. Two or three drinks will affect driving ability.
. You cannot become an alcoholicif you drink only beer.

. Drinking alcohol will warm the body.

Alcohol is a food and contains minerals and vitamins.

. Alcohol can affect a person’s sight and hearing.

. A person will not getintoxicated if he eats before drinking.

. Driving a vehicle is the right of every American.

. Driver's license are suspended in most states on the first D.W.1. offense.

A prison sentence can result from a D.W.I. offense.
Texas is as strict on first offense D.W.I. as most other states.
Alcoholics cause more accidents than social drinkers.

A person cannot lose his driver’s license for refusal to take the breathalizer.

PLACE AN X IN FRONT OF THE BEST ANSWER

15. What percentage of fatal accidents involves
drinking drivers?

20. The legal intoxication level for Texas and most states is?

1) 10 ) 33 [J(A) .05% [](B) .08%
[J so ) 75 @ 10% [J () .12%
16. A 12 ounce can of beer contains how many 21. About what percent of the U.S. population drinks?
ounces of alcohol?
Jw) ®) 2 [1(A) 25% [](8) 40%
[J© a () 8 (1) 62% [J (D) 70%
17. The best way to sober-up a person is: 22. There are about how many alcoholicsin the U.S.:
(A) Hot Coffee (B) Shower
L . O ] (A) 1-1/2 million [](8) 2-1/2 million
[J(©) Time [] (D) Honey and Sugar o N
[ () 10 million [](D) 15 million
18. A person with a BAC (BAL) of .15% will probably 23. After alcohol is taken into the body, it reaches the brain
have about how many more chances of being brain in about:
involved in a collision than a sober person:
1) 2 [(J®) 8 [J(A) 1-3 minutes [} (B) 5-10 minutes
0@ 12 J(o) 25 [J(0) 10-15minutes  [](D) 30 minutes

19. Which of the following will determine the
difference in the BACin two persons if

24. Heavy drinkers who drive are involved in more
than their share of what type of collisions:

they drink the same amount of alcohol.

[J(A) Difference in Ages

[J (©) Type of Drinks

] (A) Fatal [C] (B) Severe injuries
[] (B) Differencein

bindly Weigh [J (©) Head-on collisions [ (D) All of these
[](D) Drinking Experiences
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